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General Instructions:
Question number 1-5 carry one mark each, 6-10 carry two mark each, 11-15 carry three mark each.
 Q1.   Why the reduction of a metal oxide is easier if the metal formed is in liquid state at the temperature of reduction? Or define Vapour phase refining 
Q2.    Why is BiH3 the strongest reducing agent amongst all the hydrides of Group 15 elements?
Q3.    Why do the transition elements exhibit higher enthalpies of atomisation?
Q4.    The variability of oxidation states, a characteristic of transition elements, arises out of incomplete filling of d orbital’s in such a way that their oxidation states differ from each other by unity give example.
Q5.   Write iupac name of K3[Al(C2O4)3]
Q6 At a site, low grade copper ores are available and zinc and iron scraps are also available. Which of the two scraps would be       more suitable for reducing the leached copper ore and why?
 Q7. Explain Brown Ring Test .with reaction.
 Q8.  The spin only magnetic moment of [MnBr4]2– is 5.9 BM. Predict the geometry of the complex ion?
Q9.  Write method of preparation of a colourless gas X with rotten fish smell and is highly poisonous. It explodes in contact with traces of oxidizing agents like HNO3, Cl2 and Br2 vapour. .
Q10.  (a)Draw the structure of PCl5 (s)   (b) How is O3 estimated quantitatively ? 
Q 11
[image: image1.emf]
 (a)With the help of Ellingham diagram suggest a condition under which carbon could reduce zinc.
(b) Define leaching.

Q.12.Attempt any three

 (a) Why does NO2 dimerise?
         
 (b) Why does PCl3 fume in moisture?
 (c)Write laboratory prepration of a gas with following drescription --- it is a colourless gas with pungent smell and is highly soluble in water. It liquefies at room temperature under a pressure of two atmospheres and boils at 263 K.
         (d) Halogens have maximum negative electron gain enthalpy in the respective periods of the periodic table.Why?
Q13. (a) Why is the EV value for the Mn3+/Mn2+ couple much more positive than that for Cr3+/Cr2+ or Fe3+/Fe2+? Explain.
         (b) Define lanthanoid contraction.its cause & effect.    Or
Q13. Explain giving reasons:
         (i) Transition metals and many of their compounds show paramagnetic behaviour.

         (ii) The enthalpies of atomisation of the transition metals are high.

        (iii) Transition metals and their many compounds act as good catalyst.
Q.14 (a) Draw structures of geometrical isomers of [Fe (NH3)2(CN)4]–    
OR DEFINE Homoleptic and heteroleptic complexes.
              (b) FeSO4 solution mixed with (NH4)2SO4 solution in 1:1 molar ratio gives `the test of Fe2+ ion but CuSO4 solution mixed with  aqueous ammonia in 1:4 molar ratio does not give the test of Cu2+ ion. Explain why?
Q15. Explain (a) method of preparation of sulphuric acid or HCl.
         (b) Colored ion formation by transition elements.
         (c) Complexation tendency.
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